
MATHS

BOOKS - BEYOND PUBLICATION

QUADRATIC EQUATIONS

Exercise

1. Solution of the equations  and 

Watch Video Solution

√2x + √3y = 0

√3x − √8y = 0

2. Solution of the equation  and 2√2x + 2√5y = 0

3√3x + 3√8y = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pqKDJYbGiMq5
https://dl.doubtnut.com/l/_PCdBKA24Oj7U


Watch Video Solution

3. If  then find the value of x.

Watch Video Solution

+ = 12
10

x

6

x

4. 300x+ 140y=4, 130x+240y =  then find the value of 'x'.

Watch Video Solution

50

93

5. 2x+3y=2,5x-6y=0 then find the value of 'x'

Watch Video Solution

https://dl.doubtnut.com/l/_PCdBKA24Oj7U
https://dl.doubtnut.com/l/_ralk91IuGVuy
https://dl.doubtnut.com/l/_GirSyFOLVupZ
https://dl.doubtnut.com/l/_brn90e940kn6


6. Check whether the following are quadratic equations 

(x+4)(x+5) = 0

Watch Video Solution

7. Check whether the following are quadratic equations 

Watch Video Solution

(x − 3)2 + 1 = 2x − 5

8. Check whether the following are quadratic equation:

Watch Video Solution

(x + 2)3 = x3 − 4

https://dl.doubtnut.com/l/_LbmI74CIl1ez
https://dl.doubtnut.com/l/_5TQpN2EpWbmP
https://dl.doubtnut.com/l/_2mwRTzN7yhGB


9. Check whether the following are quadratic equations 

(x+2)(x-3)=(x+3)(x-1)

Watch Video Solution

10. Check whether the following are quadratic equation: 

Watch Video Solution

x(x + 1) + 8 = (x + 2)(x − 2)

11. Represent the following situation in the form of quadratic

equations. 

Sum of the two number is 25. We need to find the numbers, if the

sum of their reciprocals is .

Watch Video Solution

1

6

https://dl.doubtnut.com/l/_PC4FesQwchDu
https://dl.doubtnut.com/l/_gXCdpjLtX3To
https://dl.doubtnut.com/l/_eTjX6pvB55D7


12. Represent the following situation in the form of quadratic

equations. 

A train covers a distance of 90 km at a uniform speed. Had the

speed been 15  more it would have taken 30 minutes less

for the journey. We need to find the original speed of the train.

Watch Video Solution

km/hr

13. Represent the following situation in the form of quadratic

equations. 

Two numbers differ by 4 and their product is 192. We need to find

the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_mVO7QtE6sFkj
https://dl.doubtnut.com/l/_i6NydE9Igj06


14. Represent the following situation in the form of quadratic

equations. 

If the list price of a toy is reduced by Rs2, a person can buy 2 toys

more for Rs 360. We need to find the original price of the toy.

Watch Video Solution

15. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

x2 − x − 20 = 0

16. Find the roots of the following quadratic equations by

factorisation 

3x2 − 17x − 28 = 0

https://dl.doubtnut.com/l/_n6yymseJ59cR
https://dl.doubtnut.com/l/_JC7YdU95wJNI
https://dl.doubtnut.com/l/_98tgjUGmjzoO


Watch Video Solution

17. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

x2 − 2x − 24 = 0

18. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

2x2 − x − 10 = 0

19. Find the roots of the following quadratic equations by

factorisation 

https://dl.doubtnut.com/l/_98tgjUGmjzoO
https://dl.doubtnut.com/l/_0M7hlN0B1T5z
https://dl.doubtnut.com/l/_eR8zi7nTkU9T
https://dl.doubtnut.com/l/_Dtz3se8DUD8M


Watch Video Solution

4x2 − 17x + 4 = 0

20. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

− = −
x

3

3

x

5

6

21. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

= 2
x(x − 7)

9

https://dl.doubtnut.com/l/_Dtz3se8DUD8M
https://dl.doubtnut.com/l/_as5eIvy24Ax7
https://dl.doubtnut.com/l/_eZ9IF0LXyDZD


22. Find the roots of the following quadratic equations by

factorisation 

3x(9x-5) = 8

Watch Video Solution

23. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

9x2 − 34x − 8 = 0

24. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

3x2 − 13x + 12 = 0

https://dl.doubtnut.com/l/_kxgwYIZDKn14
https://dl.doubtnut.com/l/_5HkpKeafhZpi
https://dl.doubtnut.com/l/_hBkRPBssxl3u


25. The sum of the squares of two consecutive odd positive

intergers is 394. Find them.

Watch Video Solution

26. Three consecutive positive integers are such that the sum of

the square of the first and the product of other two is 46, find the

integers.

Watch Video Solution

27. Find the dimensions of a rectangle whose perimeter is 88

metres and whose area is 448 square metres.

Watch Video Solution

https://dl.doubtnut.com/l/_hBkRPBssxl3u
https://dl.doubtnut.com/l/_D0eOQ5cQWptW
https://dl.doubtnut.com/l/_5fhlusoNi99q
https://dl.doubtnut.com/l/_Bosdgm3UxjQ5


28. The hypotenuse of a right angled triangle is 34 cm. The

difference between the other two sides of the triangle is 14 cm.

Find the lengths of these sides.

Watch Video Solution

29. In a class test, the sum of the marks obtained by Ravi in

Mathematics and Science is 28. Had he got 3 marks more in

Mathematics and 4 marks less in Science, the product of his marks

would have been 180. Find his marks in the two subjects.

Watch Video Solution

30. find the roots of the following equations if they exist, by the

method of completing the square. 

2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_4IMp3ME86Vy1
https://dl.doubtnut.com/l/_ExqFLhmuAUAi
https://dl.doubtnut.com/l/_bsborx89fklk


Watch Video Solution

31. find the roots of the following equations if they exist, by the

method of completing the square. 

Watch Video Solution

3x2 − 17x − 28 = 0

32. find the roots of the following equations if they exist, by the

method of completing the square. 

Watch Video Solution

3x2 − 7x + 2 = 0

33. find the roots of the following equations if they exist, by the

method of completing the square. 

https://dl.doubtnut.com/l/_bsborx89fklk
https://dl.doubtnut.com/l/_7Fve3HBqf8h3
https://dl.doubtnut.com/l/_Gv0YjsKGZb75
https://dl.doubtnut.com/l/_mrDwPKm6eaAn


Watch Video Solution

5x2 − 17x − 12 = 0

34. The sum of the first 'n' natural numbers is given by the formula

. Find 'n' if the sum is 465.

Watch Video Solution

S =
n(n + 1)

2

35. The speed of a boat in still water is  . It can go 20 km

upstream and return downstream to the engine point in 5 hours

20 minutes. Find the speed of the stream.

Watch Video Solution

8
km

hr

https://dl.doubtnut.com/l/_mrDwPKm6eaAn
https://dl.doubtnut.com/l/_p5d7QvWx6zy9
https://dl.doubtnut.com/l/_zLfi6ZM9fP9Y


36. Sum of the areas of two squares is . If the difference fo

their perimeters is 20m, find the sides of the two squares.

Watch Video Solution

325m2

37. A take 5 days less than the time taken by B to finish a piece of

work. If both A and B together can finish it in 6 days, find the time

taken by B to finist the work.

Watch Video Solution

38. The altitude of a right traingle is 4 cm less than its base. If the

hypotenuse is 20cm, find the other two sides.

Watch Video Solution

https://dl.doubtnut.com/l/_TZfofFHI5bFp
https://dl.doubtnut.com/l/_MuLiY0BvdU2d
https://dl.doubtnut.com/l/_3jObzNLF2qUd


39. Find the nature of the roots of the following quadratic

equations. If the real roots exist, find them 

Watch Video Solution

3x2 + x − 2 = 0

40. Find the nature of the roots of the following quadratic

equations. If the real roots exist, find them 

Watch Video Solution

24x2 − 20x + 4 = 0

41. Find the nature of the roots of the following quadratic

equations. If the real roots exist, find them 

Watch Video Solution

2x2 + x + 1 = 0

https://dl.doubtnut.com/l/_A0QqDVbW1RYI
https://dl.doubtnut.com/l/_u5J6bCxXYPUa
https://dl.doubtnut.com/l/_fh628wL6Y9iC


42. Find the nature of the roots of the following quadratic

equations. If the real roots exist, find them 

Watch Video Solution

x2 − 3x − 4 = 0

43. Find the value of k for each of the following quadratic

equations, so that they have two equal roots. 

Watch Video Solution

(k + 4)x2 + (k + 1)x + 1 = 0

44. Find the value of k for each of the following quadratic

equations, so that they have two equal roots. 

9x2 + 8kx + 16 = 0

https://dl.doubtnut.com/l/_fh628wL6Y9iC
https://dl.doubtnut.com/l/_kast32KVLSnD
https://dl.doubtnut.com/l/_R4dMKoXEMgjK
https://dl.doubtnut.com/l/_A5l4YNOkoTPl


Watch Video Solution

45. Find the value of k for each of the following quadratic

equations, so that they have two equal roots. 

Watch Video Solution

kx2 − 6x + 1 = 0

46. Is it possible to design a rectangular park whose length is

twice its breadth, and the area is ? If so, find its length and

breadth.

Watch Video Solution

512m2

47. The sum of the ages of two friends is 30 years. Five years ago,

the product of their ages is 90. Is the following situation possible

https://dl.doubtnut.com/l/_A5l4YNOkoTPl
https://dl.doubtnut.com/l/_RuDqyLlih2TV
https://dl.doubtnut.com/l/_6bf5BKv6zEVp
https://dl.doubtnut.com/l/_i7dxtG3VV67M


? If so, determine their present ages.

Watch Video Solution

48. The roots of the equation  are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3x2 − 2√6x + 2 = 0

. −
2

√3

2

√3

, −
1

√3

1

√3

√ , √
2

3

2

3

,
1

√3

5

√3

49. One solution of the Q.E.  is2x2 − 5x − 3 = 0

https://dl.doubtnut.com/l/_i7dxtG3VV67M
https://dl.doubtnut.com/l/_N5qG19KSsgNl
https://dl.doubtnut.com/l/_Et12IFLbmulv


A. x=2

B. x = -1

C. x = -3

D. x = 3

Answer:

Watch Video Solution

50. The positive root of  is

A. 3

B. 5

C. 4

D. 

√3x2 + 6 = 9

2

5

https://dl.doubtnut.com/l/_Et12IFLbmulv
https://dl.doubtnut.com/l/_tdc2RG2jFR2j


Answer:

Watch Video Solution

51. Which of the following Q.E has real and equal roots?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 − 4x + 4 = 0

2x2 − 4x + 3 = 0

3x2 − 5x + 2 = 0

x2 − 2√2x − 6

52. Which of thr following is a Q.E.

https://dl.doubtnut.com/l/_tdc2RG2jFR2j
https://dl.doubtnut.com/l/_xMdvexzAwcx0
https://dl.doubtnut.com/l/_1EM8NI7i6rS8


A. 

B. (x-1)(x+3)=(x-2)(x+1)

C. 

D. 

Answer:

Watch Video Solution

(x + 1)2 = 3(x + 7)

x2 + 5x − 7 = (x − 4)2

x3 − 9 = 0

53. The sum of a number and its recip- rocal is  then the number

is

A. 2 or 

B. 3 or 

C. 2 or 

D. 5 and 

5

2

1

3

1

2

1

2

1

5

https://dl.doubtnut.com/l/_1EM8NI7i6rS8
https://dl.doubtnut.com/l/_4zC08EUeWX2V


Answer:

Watch Video Solution

54. If the equation  has equal roots. Then

A. k=1

B. k =-1

C. k = 2

D. k = -4

Answer:

Watch Video Solution

x2 − kx + 1 = 0

55. The Q.E. whose one root is  is2 − √3

https://dl.doubtnut.com/l/_4zC08EUeWX2V
https://dl.doubtnut.com/l/_QIsg0kwWD2Ra
https://dl.doubtnut.com/l/_mN0ljwOUAhfs


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 − 4x + 1 = 0

x2 + 4x − 1 = 0

x2 − 4x − 1 = 0

x2 − 2x − 3 = 0

56. The roots of a quadratic equation  are

A. 

B. p, 2p

C. 

D. 

=
x

p

p

x

±p

−p, 2p

−p, − 2p

https://dl.doubtnut.com/l/_mN0ljwOUAhfs
https://dl.doubtnut.com/l/_6ClmOc7wN7wr


Answer:

Watch Video Solution

57.  sum of the roots is……

A. 

B. 

C. 3

D. 5

Answer:

Watch Video Solution

√2x2 − 3x + 5√2 = 0

3

√2

−
3

√2

58. The quadratic equation whose roots are -3 and -4 is …

https://dl.doubtnut.com/l/_6ClmOc7wN7wr
https://dl.doubtnut.com/l/_DGbeJXu4ZNcS
https://dl.doubtnut.com/l/_mMwRC13jkExr


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

7x2 + x + 1 = 0

x2 + 7x + 12 = 0

x2 − 3x + 1 = 0

59. The nature of the roots of a quadratic equation

 is….

A. real and real

B. real and distinct

C. imaginary

D. none

4x2 − 12x + 9 = 0

https://dl.doubtnut.com/l/_mMwRC13jkExr
https://dl.doubtnut.com/l/_j6Y6n4bBc6hM


Answer:

Watch Video Solution

60. The roots of the quadratic equation  are…

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

=
x2 − 8

x2 + 20

1

2

±2

±6

±13

±7

61.  then the roots of the quadratic equation are…Ifb2 − 4ac = 0

https://dl.doubtnut.com/l/_j6Y6n4bBc6hM
https://dl.doubtnut.com/l/_O48UDc6a8nFh
https://dl.doubtnut.com/l/_pmplkIkEt6LY


A. real and distinct

B. real and equal

C. imaginary

D. none

Answer:

Watch Video Solution

62. The nature of roots of 

A. real and distinct

B. real and equal

C. complex

D. none

3x2 + 6x − 2 = 0is....

https://dl.doubtnut.com/l/_pmplkIkEt6LY
https://dl.doubtnut.com/l/_lKehOsnF6PX3


Answer:

Watch Video Solution

63. Product of the roots of  is…

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

ax2 + bx + c = 0

c

a

−
b

a

−
c

a

64. The quadratic equation whose roots are 2,3 is…

https://dl.doubtnut.com/l/_lKehOsnF6PX3
https://dl.doubtnut.com/l/_KewqsmyU1kdD
https://dl.doubtnut.com/l/_w9UIMq5H4wAV


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 − 5x + 1 = 0

x2 − 5x − 6 = 0

x2 − 3x + 1 = 0

x2 − 5x + 6 = 0

65. 

A. 

B. 

C. 2(a+1)

D. none

+ + = . .
2a2 + a − 1

a + 1

3a2 + 5a + 2

3a + 2

4 − a2

a + 2

+ 2
a

2

a + 1

2

https://dl.doubtnut.com/l/_w9UIMq5H4wAV
https://dl.doubtnut.com/l/_kr8PX4BqE2qm


Answer:

Watch Video Solution

66. 

A. 1

B. 

C. x

D. 0

Answer:

Watch Video Solution

= . .
1 − 1

1 +x

1
1 +x

x2

https://dl.doubtnut.com/l/_kr8PX4BqE2qm
https://dl.doubtnut.com/l/_sMmzeWemeBAZ


67. IF the sum of the roots of  is equal to the

sum of the squares of the roots, then……..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ax2 + bx + c = 0

−
b

a

c

a

a

b

−
a

b

68. The nature of roots of 

A. real and unequal

B. real and equal

3x2 + 13x − 2 = 0

https://dl.doubtnut.com/l/_TQrIxIEPWriE
https://dl.doubtnut.com/l/_y7hUHkojuJMk


C. complex

D. none

Answer:

Watch Video Solution

69. Product of the roots of is…

A. 1

B. 

C. 

D. 0

Answer:

Watch Video Solution

x2 + 7x = 0

−7

−3

https://dl.doubtnut.com/l/_y7hUHkojuJMk
https://dl.doubtnut.com/l/_d8sdCfLLeqai


70.  are the roots of 

A. 1

B. 4

C. 8

D. none

Answer:

Watch Video Solution

Ifα and β x2 − 2x + 3 = 0thenα2β2 =

71. 

A. 

B. 

Ifα and βare the roots ofx2 − 5x + 6 = 0then the value ofα − β =

±1

±2

https://dl.doubtnut.com/l/_wkFbUfJgofe5
https://dl.doubtnut.com/l/_y83IiNZOxXGE


C. 

D. none

Answer:

Watch Video Solution

−3

72. Form a quadratic equation from

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

x3 − 4x2 − x + 1 = (x − 2)3 =

2x2 − x + 1 = 0

2x2 − 13x + 9 = 0

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_y83IiNZOxXGE
https://dl.doubtnut.com/l/_Wj0BC5PwdAsl


73. The product of two consecutive positive integers is 306. We

need to find the integers.

A. 16

B. 13

C. 19

D. 17

Answer:

Watch Video Solution

74.  then x =..

A.  or 2

x(x + 4) = 12

−6

https://dl.doubtnut.com/l/_Wj0BC5PwdAsl
https://dl.doubtnut.com/l/_qKRYjLBzFdce
https://dl.doubtnut.com/l/_ro1HaXljQvLL


B. 6 or 7

C. 8 or -9

D. none

Answer:

Watch Video Solution

75. 9 and 1 are the roots of….

A. 

B. 

C. 

D. none

Answer:

W t h Vid S l ti

x2 − 10x + 9 = 0

x2 − x + 1 = 0

x2 + 3x + 4 = 0

https://dl.doubtnut.com/l/_ro1HaXljQvLL
https://dl.doubtnut.com/l/_4d7RSYiNkReH


Watch Video Solution

76. The discriminant of  is

A. 1

B. 

C. 8

D. 0

Answer:

Watch Video Solution

3x2 − 2x =
−1

3

−
1

3

77. Which of the following is a quadratic equation?

A. 

B. 

x2 − 3x + 1

8x3 + 7x2 + 1

https://dl.doubtnut.com/l/_4d7RSYiNkReH
https://dl.doubtnut.com/l/_AABtaLy7rzXx
https://dl.doubtnut.com/l/_nR7TGkDx0K22


C. 

D. all

Answer:

Watch Video Solution

x2 − x + 1 = 0

78. =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(α + β)2 − 2αβ

α2 + β2 + 1

α2 + β2

α2 + β2

αβ

https://dl.doubtnut.com/l/_nR7TGkDx0K22
https://dl.doubtnut.com/l/_BOIkMW7DPtDG


79. If  are the roots of  then 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α, β x2 − px + q = 0 α3 + β3 = ….

p + q3

p − 3p3q

p3 − 3pq

p2 − 3pq

80. (1-5x)(9x+1)=……

A. 

B. 

C. 

3x2 + 1 + x

8x2 − 5x + 1

1 − 4x + 5x2

https://dl.doubtnut.com/l/_RFwLqJIXjLvx
https://dl.doubtnut.com/l/_jmmo1gxGLNv6


D. 

Answer:

Watch Video Solution

1 + 4x − 45x2

81. The roots of  are…

A. 2 or -2

B. 2 or 

C. 1 or -1

D. all

Answer:

Watch Video Solution

x =
1

x

1

2

https://dl.doubtnut.com/l/_jmmo1gxGLNv6
https://dl.doubtnut.com/l/_xH7Rl7WsgZP6


82.  then other root is….

A. 8

B. 

C. 

D. 

Answer:

Watch Video Solution

if is a root of6x2 − 13x − 63 = 0
−7
3

1

3

2

9

9

2

83. 

A. 

B. a

C. 

√a + √a + √a + ......∞ = ....... .

a1 / 2

a3

https://dl.doubtnut.com/l/_ULVOEzEkEzTv
https://dl.doubtnut.com/l/_vkqpwgbYz96Q


D. 

Answer:

Watch Video Solution

a/2

84. IF one root of  is square that of the other, then

k=………

A. 2

B. 3

C. 

D. none

Answer:

Watch Video Solution

x2 − x − k = 0

−4

https://dl.doubtnut.com/l/_vkqpwgbYz96Q
https://dl.doubtnut.com/l/_KXbbiq8rJZNL


85. The roots of  are…

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

2x2 + x − 4 = 0

−1 ± √33

4

( − 1 ±
√31

2

( − 1 ±
√29

2

86. If  then shape of graph is….

A. 

B. 

C. 

b2 < 4ac

https://dl.doubtnut.com/l/_ubD8iIIsTE59
https://dl.doubtnut.com/l/_V3yUbMljPbHC


D. none

Answer:

Watch Video Solution

87. One of the roots of the Q.E.  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

6x2 − x − 2 = 0

1

3

−
1

3

−
2

3

2

3

https://dl.doubtnut.com/l/_V3yUbMljPbHC
https://dl.doubtnut.com/l/_7jix4igdxIVk


88. The sum of a number and its reciprocal is  ,then the

number is

A. 

B. 5

C. 

D. 

Answer:

Watch Video Solution

50

7

1

7

2

7

3

7

89.  has a root x = 3, then k =

A. 

B. 

If5x2 − kx + 11 = 0

16

3

56

3

https://dl.doubtnut.com/l/_PI11J82usvel
https://dl.doubtnut.com/l/_wOknY3MCpTvL


C. 

D. 15

Answer:

Watch Video Solution

−
17
3

90. The value of p for which  has a real root is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4x2 − 2px + 7 = 0

p > 2√7

p > √7

p > √5

p > √3

https://dl.doubtnut.com/l/_wOknY3MCpTvL
https://dl.doubtnut.com/l/_HUfHRmGOAzsA


91. The standard form of a Q.E. is

A. ax+b=0

B. ax^2+bx+c=0,a!=0`

C. 

D. 

Answer:

Watch Video Solution

ax3 + bx2 + cx + d = 0

a2x + b2y = c2

92. The roots of the Q.E. 

 are

A. 

B. 

=
9

x2 − 27

25

x2 − 11

±11

±3

https://dl.doubtnut.com/l/_eItoZEBRQXBl
https://dl.doubtnut.com/l/_P7Qm0ZkSC5sU


C. 

D. 

Answer:

Watch Video Solution

±9

±6

93. The Q.E. whose roots are -2,-3 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x62 − 5x + 6 = 0

x2 + 5x + 6 = 0

x2 − 5x − 6 = 0

x2 − 5x − 6 = 0

https://dl.doubtnut.com/l/_P7Qm0ZkSC5sU
https://dl.doubtnut.com/l/_wXl9pvaNx6Tt


94. Form a quadratic equation whose roots are k and 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

k

x2 + (k + )x + 1 = 0
1

k

xk2 − kx + 1 = 0

x2 − (k + k)x + 1 = 0

x2 − (k + )x + 1 = 0
1

k

95. The sum of the roots of the quadratic equation

 is

A. 

B. 

5x2 + 4√3x − 11 = 0

−
11

5

11

3

https://dl.doubtnut.com/l/_q0AqBum5KXt5
https://dl.doubtnut.com/l/_WVNzEIoTGeHQ


C. 

D. 

Answer:

Watch Video Solution

−
4
3

− √3
4
5

96. If one root of a quadratic equation is  then the

quadratic equation is ….

A. `

B. 

C. 

D. 

Answer:

Watch Video Solution

7 − √3

x2 − 7x + 3 = 0

x2 − 4x + 6 = 0

x2 − 7x + 1 = 0

x2 − 14x + 46 = 0

https://dl.doubtnut.com/l/_WVNzEIoTGeHQ
https://dl.doubtnut.com/l/_ozeIL82mSKtf


97. The roots of a quadratic equation 

are…..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(√2x + 3)(5x − √3) = 0

, qrt2
1

3

1

a

− ,
1

2

3

√5

− ,
3

√2

1

5

− ,
3

√2

√3

5

98.  then the roots of the quadratic equation are…

A. real and distinct

Ifb2 − 4ac = 0

https://dl.doubtnut.com/l/_ozeIL82mSKtf
https://dl.doubtnut.com/l/_4tznOBZQGAZ8
https://dl.doubtnut.com/l/_H8hHfFpEOds7


B. real and equal

C. imaginary

D. none

Answer:

Watch Video Solution

99. The roots of  are

A. real

B. not real

C. real and equal

D. none

Answer:

W t h Vid S l ti

2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_H8hHfFpEOds7
https://dl.doubtnut.com/l/_5mK0CgY7XNEX


Watch Video Solution

100. The quadratic equation whose roots are -2 and -3 is…

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

x2 + 6x + 1 = 0

x2 + 5x + 6 = 0

x2 − 5x + 1 = 0

101. 

A. 

B. 

+ + = . .
1

a + 3

1

a − 3

6

9 − a2

1

a + 2

3

a + 2

https://dl.doubtnut.com/l/_5mK0CgY7XNEX
https://dl.doubtnut.com/l/_lPliAhvwkx3u
https://dl.doubtnut.com/l/_8xCoV3V3L9pz


C. 

D. 

Answer:

Watch Video Solution

2

a + 3

2

a + 3

102. 

A.  or 

B.  or 

C.  or 

D. none

Answer:

Watch Video Solution

If(2x − 1)(2x + 3) = 0thenx. .

1

2
−

1

2

1

2
−

3

2

1

2

2

3

https://dl.doubtnut.com/l/_8xCoV3V3L9pz
https://dl.doubtnut.com/l/_FEjhbwP0CBSm


103.  are the roots of the quadratic equation 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Ifα and β

2x2 + 3x − 7 = 0then =
α2 + β2

αβ

−
37
16

−
37
4

−
37
14

37
8

104. The degreee of any quadratic equation is..

A. 4

B. 1

https://dl.doubtnut.com/l/_xi70X6X7J8uG
https://dl.doubtnut.com/l/_VKBhwVWgbdTW


C. 2

D. 3

Answer:

Watch Video Solution

105. The product of two consecutive positive integers is 306. We

need to find the integers.

A. 12

B. 16

C. 18

D. 10

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_VKBhwVWgbdTW
https://dl.doubtnut.com/l/_4LOd4WFwaEvG


106. Find the roots of the quadratic equations by factorisation: 

A. 

B. 

C. 3,4

D. 

Answer:

Watch Video Solution

3(x − 4)2 − 5(x − 4) = 12

6, −
1

17

8, −
1

2

3, −
4
3

107. The discriminant of the quadratic equation 

is….

px2 + qx + r = 0

https://dl.doubtnut.com/l/_4LOd4WFwaEvG
https://dl.doubtnut.com/l/_bWV1b9LRg3zK
https://dl.doubtnut.com/l/_HlPsJmyg49lA


A. 

B. `q-4pr

C. 

D. none

Answer:

Watch Video Solution

q2 − pr

q2 − 4pr

108. If  is a root of  then ….

A. 

B. 0

C. 8

D. 1

α ax2 + bx + c = 0 aα2 + bα + c =

−c

https://dl.doubtnut.com/l/_HlPsJmyg49lA
https://dl.doubtnut.com/l/_TYPNtJhT5g7o


Answer:

Watch Video Solution

109. Discriminant of the quadratic equation  is…

A. 

B. 9

C. 6

D. 5

Answer:

Watch Video Solution

x + = 3
1

x

−10

110. If the sum of the roots of  then k = …kx2 − 3x + 1 = 0is
−4
3

https://dl.doubtnut.com/l/_TYPNtJhT5g7o
https://dl.doubtnut.com/l/_cneMmlVfTEyt
https://dl.doubtnut.com/l/_UpEsJjQ723rV


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

−
4
9

9

5

−
9

4

111. If  , then p(0)=

A. 1 or 3

B. 2 or 7

C. 8 or 

D. 2 or -3

p(x) = 4x2 − 4x + 1

1

2

https://dl.doubtnut.com/l/_UpEsJjQ723rV
https://dl.doubtnut.com/l/_uk7Z7Bo9ygSB


Answer:

Watch Video Solution

112. 

A. 

B. 

C. `(1+sqrt2)/2

D. none

Answer:

Watch Video Solution

√a + √a + √a + ......∞ = ....... .

1 + √1 + 4a

2

1 − √4a − 2

3

113.  then x = ….If + =
1

x − 2

2

x − 1

6

x

https://dl.doubtnut.com/l/_uk7Z7Bo9ygSB
https://dl.doubtnut.com/l/_0GQuaEuSTi3m
https://dl.doubtnut.com/l/_OdfnqavSTSS0


A. 3 or 

B. 3 or 

C. 1 or 

D. 8 or 

Answer:

Watch Video Solution

4
3

−
1

3

2

3

7
2

114. Sum of the roots of a pure quadratic equation is..

A. 

B. 12

C. 

D. 0

−13

−9

https://dl.doubtnut.com/l/_OdfnqavSTSS0
https://dl.doubtnut.com/l/_evmQMIq7AaP5


Answer:

Watch Video Solution

115. If the sum of the squares of two consecutive odd numbers is

74, then the smaller number is

A. 11

B. 3

C. 7

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_evmQMIq7AaP5
https://dl.doubtnut.com/l/_lO3CMHZoCtTf


116. The roots of the Q.E. 

A. real and distinct

B. Real and equal

C. Not real

D. Can't be determined

Answer:

Watch Video Solution

√3x2 − 2x − √3 = 0are

117. The roots of  are

A. Real and equal

B. Real and unequal

C. imaginary

5x2 − x + 1 = 0

https://dl.doubtnut.com/l/_XWNP45HuWSax
https://dl.doubtnut.com/l/_TVp6gdKH6eou


D. None

Answer:

Watch Video Solution

118. The roots of the Q.E.  are

A. 1,3

B. 

C. 

D. 

Answer:

Watch Video Solution

(7x − 1)(2x + 3) = 0

,
1

7

3

2

, −
1

7

3

2

− , −
1

7

3

2

https://dl.doubtnut.com/l/_TVp6gdKH6eou
https://dl.doubtnut.com/l/_BLqtqcGJPImt


119. The roots of the Q.E. 

A. 10,8

B. 

C. 

D. (-3,3)

Answer:

Watch Video Solution

(x − )
2

= 9
1

3

− ,
10

3

8

3

, −
10

3

8

3

120. If (x - 3)(x + 3) = 16 then the value of x is

A. 

B. 

C. 

±4

±3

±6

https://dl.doubtnut.com/l/_7pj5l2qFKTpw
https://dl.doubtnut.com/l/_pNsLFEZO7hpO


D. 

Answer:

Watch Video Solution

±5

121. The product of the roots of the quadratic equation

A. 

B. 

C. 5

D. 3

Answer:

Watch Video Solution

√2x2 − 3x + 5√2 = 0

−
5

3

√2

https://dl.doubtnut.com/l/_pNsLFEZO7hpO
https://dl.doubtnut.com/l/_cn44MfTYvFPp


122. The nature of the roots of quadratic equation

 is…

A. real and distinct

B. real and equal

C. imaginary

D. none

Answer:

Watch Video Solution

3x2 + x + 8 = 0

123.  then the roots of the quadratic equation are…

A. distinct

B. equal

Ifb2 − 4ac < 0

https://dl.doubtnut.com/l/_w8Xqjqjr4nkQ
https://dl.doubtnut.com/l/_M9LiG8c6wYrE


C. imaginary

D. none

Answer:

Watch Video Solution

124. IF the sum of the roots of  is equal to the

sum of the squares of the roots, then……..

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

ax2 + bx + c = 0

c

a

b

a

a

b

https://dl.doubtnut.com/l/_M9LiG8c6wYrE
https://dl.doubtnut.com/l/_LzgLwukddLVC


125. 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

− = . .
x

x − y

y

x + y

x2 + y2

x2 − y2

x2 + y2

x + y

x2y2

x + y

126. =…...

A. 0

B. 1

(x + )
2

− (y + )
2

− (xy − ). ( − )
1

x

1

y

1

xy

x

y

y

x

https://dl.doubtnut.com/l/_LzgLwukddLVC
https://dl.doubtnut.com/l/_KKdG9V59YQNL
https://dl.doubtnut.com/l/_NrkLYiS302JB


C. xy

D. 

Answer:

Watch Video Solution

1

xy

127. Prove that the roots of  are always real.

A. real

B. not real

C. complex

D. none

Answer:

Watch Video Solution

(x − a)(x − b) = h2

https://dl.doubtnut.com/l/_NrkLYiS302JB
https://dl.doubtnut.com/l/_vojJpfXWnegH


128. Form a quadratic equation from 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

x(2x + 3) = x2 + 1

x2 + 3x − 1 = 0

x2 − 3x − 2 = 0

x2 + x + 1 = 0

129. The roots of  are ..........

A.  or 7

B.  or 

C.  or 

√2x2 + 7x + 5√2 = 0

−
5

√2

−
5

√2
−√2

−√2
5

√3

https://dl.doubtnut.com/l/_XV2crTOHa0kf
https://dl.doubtnut.com/l/_Cyj0UqY3PFn0


D. all

Answer:

Watch Video Solution

130. On solving  we get x =

A. 5 or -2

B. 

C.  or -7

D. none

Answer:

Watch Video Solution

x2 + 5 = − 6x

−1 or − 5

−3

https://dl.doubtnut.com/l/_Cyj0UqY3PFn0
https://dl.doubtnut.com/l/_7w2ptdtB8j0H


131.  has equal roots then k =

A. 3

B. 

C. 7

D. 6

Answer:

Watch Video Solution

Ifkx(x − 2) + 6 = 0

−6

132. If one root of  is 5 then p =

A. 8

B. 7

C. 

x2 − (p − 1)x + 10 = 0

−3

https://dl.doubtnut.com/l/_JiHXjXyt5Z9r
https://dl.doubtnut.com/l/_YMYjzxR4MmRK


D. none

Answer:

Watch Video Solution

133.  then k = …

A. 24

B. 16

C. 19

D. none

Answer:

Watch Video Solution

√k + 1 = 3

https://dl.doubtnut.com/l/_YMYjzxR4MmRK
https://dl.doubtnut.com/l/_4ez5MnqY4iTR


134. The quadratic inequation with  is…

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

2 < x < 3

x2 + 6x + 5 < 0

x2 − 5x + 6 > 0

x2 − 5x + 6 < 0

135. క్రిం ది సమీకరణాల మూలాలను కనుగొనుము.

, 

A.  or 1

B. 2 or 1

− =
1

x + 4

1

x − 7

11

30
x ≠ − 4, 7

−2

https://dl.doubtnut.com/l/_Vj2M8ZAtc4zN
https://dl.doubtnut.com/l/_CRxVYffstfSV


C.  or 3

D. 7 or 

Answer:

Watch Video Solution

−1

1

2

136. The roots of the equation  are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4x2 + 4√3x + 3 = 0

√3

2

−
√3

2

−4

−2

https://dl.doubtnut.com/l/_CRxVYffstfSV
https://dl.doubtnut.com/l/_Q8j3Aqqju4pR


137. The sum of the roots of the equation 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3x2 − 7x + 11 = 0

11

3

−
7
3

7
3

3

7

138. The roots of the Q.E.

A. 

B. 

C. 

(√5x − 3)(√5x − 3) = 0are

,
3

√5

3

√5

− , −
3

√5

3

√5

, −
3

√5

3

√5

https://dl.doubtnut.com/l/_AMSrNxuCWbH5
https://dl.doubtnut.com/l/_XRWeEyipOpuq


D. 

Answer:

Watch Video Solution

,
√3

√5

√3

√5

139. The roots of the QE 

 are

A. 

B. 

C. 

D. 1,-11

Answer:

Watch Video Solution

(3x + 4)2 − 49 = 0

1, −
11

3

,
1

3

11

3

− , −
1

3

11

3

https://dl.doubtnut.com/l/_XRWeEyipOpuq
https://dl.doubtnut.com/l/_vIMnrtUG4oll


140. If the sum of the roots of the Q.E.

 is equal to the product of the

roots, then the value of k is

A. 3

B. 4

C. 2

D. 6

Answer:

Watch Video Solution

3x2 + (2k + 1)x − (k + 5) = 0

141. The sum of the roots of the quadratic equation

 is

A. 

5x2 + 4√3x − 11 = 0

5

−11

https://dl.doubtnut.com/l/_EIkBWUrbrGcn
https://dl.doubtnut.com/l/_uv852INBLCZ5


B. 

C. 

D. 

Answer:

Watch Video Solution

1

5

−
11

5

1

5

142. The discriminant of  is…

A. 49

B. 89

C. 20

D. none

Answer:

W t h Vid S l ti

5x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_uv852INBLCZ5
https://dl.doubtnut.com/l/_KmnwYVvisv6m


Watch Video Solution

143. Find the nature of the roots of 

A. real and equal

B. imaginary

C. real and distinct

D. none

Answer:

Watch Video Solution

4x2 − 20x + 25 = 0

144.  has no real roots if…..

A. 

B. k = 10

4x2 + kx − 2 = 0

k > − √32

https://dl.doubtnut.com/l/_KmnwYVvisv6m
https://dl.doubtnut.com/l/_hP1ougu533Mt
https://dl.doubtnut.com/l/_h4LvpvxXazL1


C. 

D. none

Answer:

Watch Video Solution

k < − √32

145. 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

(x − α)(x − β) = 0then

x2(α)x + βα = 0

x2 − (α + β)x + αβ = 0

αx2 − xβ + αβ = 0

https://dl.doubtnut.com/l/_h4LvpvxXazL1
https://dl.doubtnut.com/l/_jSTttkxCN3lt


146. For what values of m are the roots of the equation

 are equal?

A. 1 or 5

B.  or 2

C. 8 or 1

D. 9 or -7

Answer:

Watch Video Solution

mx2 + (m + 3)x + 4 = 0

−1

147. 

A. 8

B. 0

If x + = 2  then x2 + = . .
1

x

1

x2

https://dl.doubtnut.com/l/_gAYaaYeMZyiN
https://dl.doubtnut.com/l/_ZPx8LsPtxbef


C. 4

D. 2

Answer:

Watch Video Solution

148. Verify that 1 and  are the roots of the equation 

A. 

B. 

C. 

D. all

Answer:

Watch Video Solution

3

2

2x2 − 5x + 3 = 0.

2x2 − 5x + 3 = 0

x2 − 5x + 1 = 0

2x2 − x + 3 = 0

https://dl.doubtnut.com/l/_ZPx8LsPtxbef
https://dl.doubtnut.com/l/_8AjJSqHS4HiA


149. IF the equation  has no real and distinct

roots, then………

A. no real roots

B. real roots

C. equal roots

D. none

Answer:

Watch Video Solution

x2 + 5x + K = 0

150. Diagonal of rectangle is ………. units.

A. √l + b2

https://dl.doubtnut.com/l/_8AjJSqHS4HiA
https://dl.doubtnut.com/l/_XZL4VLeN3IWZ
https://dl.doubtnut.com/l/_sel6Ikd3g9dj


B. 

C. 

D. 

Answer:

Watch Video Solution

√l + b

√lb

√l2 + b2

151. The coefficient of x in a pure quadratic equation is…

A. 2

B. 0

C. 8

D. none

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_sel6Ikd3g9dj
https://dl.doubtnut.com/l/_vlibifcyTX9c


Watch Video Solution

152. If 2 is a root of  then r = …

A. 

B. 

C. 16

D. 8

Answer:

Watch Video Solution

x2 + 5x + r = 0

−4

−14

153.  then x = ..

A. 9 or -13

B. 8 or -12

x2 + (x + 2)2 = 290

https://dl.doubtnut.com/l/_vlibifcyTX9c
https://dl.doubtnut.com/l/_xV3CFUfB3J6d
https://dl.doubtnut.com/l/_EQ9LznR4468i


C. 11 or -13

D. all

Answer:

Watch Video Solution

154.  then y =

A. 12

B. 6

C. 8

D. none

Answer:

Watch Video Solution

If3y2 = 192

https://dl.doubtnut.com/l/_EQ9LznR4468i
https://dl.doubtnut.com/l/_BCvM3b5EfCrC


155. 

A. 0

B. 2

C. 1

D. none

Answer:

Watch Video Solution

Ifx2 − 2x + 1 = 0thenx + =
1

x

156. Product of the roots of the Q.E. 

A. 2

B. 

3x2 − 6x + 11 = 0is

−
11

3

https://dl.doubtnut.com/l/_R8zJhmyQWRn1
https://dl.doubtnut.com/l/_svPUw1EYYMmE


C. 

D. 

Answer:

Watch Video Solution

−
11

6

11

3

157. Show that the product of the roots of a quadratic equation

 is .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)
c

a

−b + √b2 + 4ac
ac

−b − √b2 − 4
3

−b − √b − 4ac

2

−b ± √b2 − 4ac
2a

https://dl.doubtnut.com/l/_svPUw1EYYMmE
https://dl.doubtnut.com/l/_gtGaGnUCoYDv


158. The nature of the roots of a quadratic equation

 is…..

A. real and distinct

B. real and equal

C. imaginary

D. none

Answer:

Watch Video Solution

4x2 + 5x + 1 = 0

159. If the roots of a quadratic equation  are real

and equal then  =…

ax2 + bx + c = 0

b2

https://dl.doubtnut.com/l/_gtGaGnUCoYDv
https://dl.doubtnut.com/l/_7aXgpJePM7RT
https://dl.doubtnut.com/l/_lJgZr83WhjM4


A. 4ab

B. 4ac

C. 

D. 

Answer:

Watch Video Solution

a
c

4

a2c2

160.  has real roots if …

A. 

B. 

C. k = 6

D. k = 0

3x2 + ( − kx) + 8 = 0

k < 4√6

k > 4√6

https://dl.doubtnut.com/l/_lJgZr83WhjM4
https://dl.doubtnut.com/l/_QmX1mfCTFa9H


Answer:

Watch Video Solution

161. If  has equal roots then ….

A. 

B. 

C. `k = +-1

D. `none

Answer:

Watch Video Solution

x2 − 8kx + 16 = 0

k = ± √2

k = ± 7

162. Sum of the roots of  is−7x + 3x2 − 1 = 0

https://dl.doubtnut.com/l/_QmX1mfCTFa9H
https://dl.doubtnut.com/l/_o7ZKcaOxhlTe
https://dl.doubtnut.com/l/_AP85NBQX6My1


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

4

1

7

7
3

1

2

163. If  and  are the roots of  the value of 

 = ......

A. 

B. 10

C. 8

D. 12

α β x2 − 2x + 3 = 0

α3 + β3

−10

https://dl.doubtnut.com/l/_AP85NBQX6My1
https://dl.doubtnut.com/l/_0RT3eyngTxYo


Answer:

Watch Video Solution

164. In the quadratic equation 

A. 7

B. 0

C. 8

D. 1

Answer:

Watch Video Solution

x2 + x − 2 = 0, a + b + c =

165. The roots of  are…2x2 − x + = 0
1

8

https://dl.doubtnut.com/l/_0RT3eyngTxYo
https://dl.doubtnut.com/l/_Tolu938Iceec
https://dl.doubtnut.com/l/_aCxsvJFJUp6B


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

,
1

4

1

2

,
1

3

1

7

,
1

2

1

8

,
1

4

1

4

166. Number of distinct line segments that can be formed out of n-

points is…

A. 

B. 

C. 

D. 

n(n − 1)

2

n

2

n + 1

2

n2(n − 1)

2

https://dl.doubtnut.com/l/_aCxsvJFJUp6B
https://dl.doubtnut.com/l/_m0UPfkC0a7MA


Answer:

Watch Video Solution

167. From the figure , x=… 

A. 7

B. 3

C. `10

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_m0UPfkC0a7MA
https://dl.doubtnut.com/l/_SLWVM0hCD986


168. 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

P (x) = x2 + 2x + 1thenP(x2) =

x4 + 2x2 + 1

x4 + 2x + 1

x3 + 2x + 1

169. If  are the roots of the quadratic equation 

A. 7

B. 8

α and β

x2 − 3x + 1 = 0then +
1

α2

1

β2

https://dl.doubtnut.com/l/_MXGZOvgicOBR
https://dl.doubtnut.com/l/_J14Z1nQ8qMJV


C. 

D. none

Answer:

Watch Video Solution

−3

170. 

A. 1

B. 4

C. 2

D. none

Answer:

Watch Video Solution

√x = √2x − 1thenx = ...

https://dl.doubtnut.com/l/_J14Z1nQ8qMJV
https://dl.doubtnut.com/l/_xQLnJYEgfjkb


171. A pentagon has… diagonals.

A. 6

B. 7

C. 9

D. none

Answer:

Watch Video Solution

172. Product of the roots of  is..

A. 

B. 7

C. 0

1 = x2

−1

https://dl.doubtnut.com/l/_oA0LTi66B0Kj
https://dl.doubtnut.com/l/_PUb5AJunplEo


D. 1

Answer:

Watch Video Solution

173. If  are the roots of , then  is

A. 8

B. 

C. 12

D. 0

Answer:

Watch Video Solution

α, β x2 + x + 1 = 0 α− 2 + β − 2

−1

https://dl.doubtnut.com/l/_PUb5AJunplEo
https://dl.doubtnut.com/l/_7BPN8fMdxxJq


174.  then x =..

A. b-a or 

B. b-a or -a

C. b+a or -a

D. all

Answer:

Watch Video Solution

=
x

a − b

a

x − b

a

2

175.  then n = …

A. 13

B. 16

C. 10

= 55
n(n + 1)

2

https://dl.doubtnut.com/l/_EnKRVcw1obLX
https://dl.doubtnut.com/l/_wIlzRsifEN8E


D. 12

Answer:

Watch Video Solution

176. If  and  are the roots of  then 

=….

A. 

B. 8

C. 6

D. none

Answer:

Watch Video Solution

α β x2 − 2x + 3 = 0 α2β + β2α

−3

https://dl.doubtnut.com/l/_wIlzRsifEN8E
https://dl.doubtnut.com/l/_XTZD0qOnWs2Q


177.  then x =..

A. 12,17

B. 12,-6

C. 8,11

D. 12,16

Answer:

Watch Video Solution

x2 − 7x − 60 = 0

178. The general form of a quadratic equation in variable x is……

A. 

B. 

C. 

ax2 + bx + c = 0(a ≠ 0)

ax + bx2 + c = 0(b ≠ 0)

ax2 + bx = 0(a ≠ 0)

https://dl.doubtnut.com/l/_2IDBkz9w61vZ
https://dl.doubtnut.com/l/_XNV2pP8fuJju


D. 

Answer:

Watch Video Solution

a2x + bx + c = 0)b ≠ 0)

179. The possible number of roots to a quadratic equation are….

A. At a maximum of 3

B. At a maximum of 2

C. Infinite

D. At a maximum of 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XNV2pP8fuJju
https://dl.doubtnut.com/l/_2qb4V88MISGz


180. If the roots of a quadratic equation  are

imaginary then……

A. 

B. 

C. 

D. p = q+r

Answer:

Watch Video Solution

px2 + qx + r = 0

q2 > 4pr

q2 < 4pr

q2 = 4pr

181. The discriminant of quadratic equation  is…

A. 35

B. 36

2x2 + x − 4 = 0

https://dl.doubtnut.com/l/_ZkSAYAWPyFli
https://dl.doubtnut.com/l/_BqYDzD5YlVGD


C. 33

D. 38

Answer:

Watch Video Solution

182. The product of roots of quadratic equation 

is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ax2 + bx + c = 0

c

a

−
b

a

−
c

a

b

c

https://dl.doubtnut.com/l/_BqYDzD5YlVGD
https://dl.doubtnut.com/l/_Q4yx9QWLSDpi


183. For what positive value of x the quadratic equation

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4x2 − 9 = 0

2

3

−
2

3

−
3

2

3

2

184. Which of the following quadratle. Equations the roots are

equal?

https://dl.doubtnut.com/l/_Q4yx9QWLSDpi
https://dl.doubtnut.com/l/_bwkXDGJYGlYg
https://dl.doubtnut.com/l/_4pPD94HfodhS


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 − 5 = 0

x2 − 10x + 25 = 0

x2 + 5x + 6 = 0

x2 − 1 = 0

185. If  have a common roots

then

A. a+b = 0

B. ab = 1

C. a+b = 1

D. a+b+1 = 0

x2 + ax + b = 0, x2 + bx + a = 0

https://dl.doubtnut.com/l/_4pPD94HfodhS
https://dl.doubtnut.com/l/_WFnE6jG4Wosa


Answer:

Watch Video Solution

186. A metal cuboid of dimension  cm , was

melted and cast into a cylinder of height 14 cm .What is its radius?

A. 15 cm

B. 7.5 cm

C. 22.5 cm

D. 7cm

Answer:

Watch Video Solution

22cm × 15cm × 7.5

https://dl.doubtnut.com/l/_WFnE6jG4Wosa
https://dl.doubtnut.com/l/_poOVarsdAhJa


187. Solution of x-y=2,x+y=0 lies in…..quadrant.

A. I

B. IV

C. II

D. III

Answer:

Watch Video Solution

188. Two numbers differ by 5 and their product is 300. We need to

find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_A4KN8lPprToZ
https://dl.doubtnut.com/l/_fnF2hTun6zfb


189. The base of a triangle is 7 cm longer than its altitude. If the

area of the triangle is 30 sq.cm, then find its base and altitude.

Watch Video Solution

190. The diagonal of a rectangular plot is 40 metres more than the

shorter side. If the longer side is 20 metres more than the

shortere side, find the sides of the plot.

Watch Video Solution

191. The sum of the ages of two friends is 30 years, 5 years ago, the

product of their ages in years was 75. Is the situation possible? If

so, determine their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_NvU2yfyxUTOY
https://dl.doubtnut.com/l/_zJenji7c7TvQ
https://dl.doubtnut.com/l/_RaT2gO7ZCpm0


192. The roots of the equation  are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3x2 − 2√6x + 2 = 0

. −
2

√3

2

√3

, −
1

√3

1

√3

√ , √
2

3

2

3

,
1

√3

5

√3

193. Which of thr following is a Q.E.

A. 

B. (x-1)(x+3)=(x-2)(x+1)

C. 

(x + 1)2 = 3(x + 7)

x2 + 5x − 7 = (x − 4)2

https://dl.doubtnut.com/l/_Kdo8Olf5aRNG
https://dl.doubtnut.com/l/_JTMhI37Bsn65


D. 

Answer:

Watch Video Solution

x3 − 9 = 0

194. Product of the roots of the Q.E. 

A. 2

B. 

C. 

D. 

Answer:

Watch Video Solution

3x2 − 6x + 11 = 0is

11

3

−
11

6

11

3

https://dl.doubtnut.com/l/_JTMhI37Bsn65
https://dl.doubtnut.com/l/_ptf9GYlpvId8


195. The quadratic equation whose roots are 2,3 is…

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 − 5x + 1 = 0

x2 − 5x − 6 = 0

x2 − 7x + 1 = 0

x2 − 14x + 46 = 0

196. 

A. 

B. 

C. 2(a+1)

+ + = . .
2a2 + a − 1

a + 1

3a2 + 5a + 2

3a + 2

4 − a2

a + 2

+ 2
a

2

a + 1

2

https://dl.doubtnut.com/l/_gRQy3ZayqDnY
https://dl.doubtnut.com/l/_GT6rSvBD3HoJ


D. none

Answer:

Watch Video Solution

197. The roots of  are…

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2x2 − x + = 0
1

8

,
1

4

1

2

,
1

3

1

7

,
1

2

1

8

,
1

4

1

4

https://dl.doubtnut.com/l/_GT6rSvBD3HoJ
https://dl.doubtnut.com/l/_vxRD47CuQcs5


198. 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

P (x) = x2 + 2x + 1thenP(x2) =

x4 + 2x2 + 1

x4 + 2x + 1

x3 + 2x + 1

199. 

A. 

B. 

C. `(1+sqrt2)/2

√a + √a + √a + ......∞ = ....... .

1 + √1 + 4a

2

1 − √4a − 2

3

https://dl.doubtnut.com/l/_aASq6o4YP8LM
https://dl.doubtnut.com/l/_Saow4FX0K41f


D. none

Answer:

Watch Video Solution

200. The roots of  are

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

2x2 − 3x + 5 = 0

−1 ± √33

4

( − 1 ±
√31

2

( − 1 ±
√29

2

https://dl.doubtnut.com/l/_Saow4FX0K41f
https://dl.doubtnut.com/l/_TONNnLGUjzNn
https://dl.doubtnut.com/l/_KDTscZ14ZOCK


201. One of the roots of the Q.E.  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

6x2 − x − 2 = 0

1

3

−
1

3

−
2

3

2

3

202. The sum of a number and its reciprocal is  ,then the

number is

A. 

B. 5

C. 

50

7

1

7

2

7

https://dl.doubtnut.com/l/_KDTscZ14ZOCK
https://dl.doubtnut.com/l/_5bErvJgUHwuW


D. 

Answer:

Watch Video Solution

3

7

203. One solution of the Q.E.  is

A. x = 2

B. x = -1

C. x = -3

D. x = 3

Answer:

Watch Video Solution

2x2 − 5x − 3 = 0

https://dl.doubtnut.com/l/_5bErvJgUHwuW
https://dl.doubtnut.com/l/_C1mLJ9lIEbXm


204. The roots of the Q.E.  are

A. 1,3

B. 

C. 

D. 

Answer:

Watch Video Solution

(7x − 1)(2x + 3) = 0

,
1

7

3

2

− , −
1

7

3

2

− , −
1

7

3

2

205. The roots of the QE 

 are

A. 

B. 

(3x + 4)2 − 49 = 0

1, −
11

3

,
1

3

11

3

https://dl.doubtnut.com/l/_n7cRQqkhCpVb
https://dl.doubtnut.com/l/_EMVf6qbR22Rr


C. 

D. 1,-11

Answer:

Watch Video Solution

− , −
1

3

11

3

206. Find the roots of 

Watch Video Solution

3x2 − 4√3x + 4 = 0

207. Find the roots of 

Watch Video Solution

3x2 − 2√12x + 4 = 0

https://dl.doubtnut.com/l/_EMVf6qbR22Rr
https://dl.doubtnut.com/l/_ZVvHqkGIR4tZ
https://dl.doubtnut.com/l/_7KaWpAQ2718U


Example

208. Is it possible to desigh a rectangular park of perimeter 80m

and area  ? If so, find its length and breadth.

Watch Video Solution

400m2

209. The sum of the squares of two consective odd positive

intergers is 400 find them.

Watch Video Solution

1. Check whether the following are quadratic equations: 

Watch Video Solution

(x − 2)2 + 1 = 2x − 3

https://dl.doubtnut.com/l/_aBeDIidpNkTL
https://dl.doubtnut.com/l/_ghO73nptN70g
https://dl.doubtnut.com/l/_Bqp5wgNwIHhH


2. Check whether the following are quadratic equation: 

Watch Video Solution

x(x + 1) + 8 = (x + 2)(x − 2)

3. Check whether the following are quadratic equation: 

Watch Video Solution

x(2x + 3) = x2 + 1

4. Check whether the following are quadratic equation:

Watch Video Solution

(x + 2)3 = x3 − 4

https://dl.doubtnut.com/l/_NfM3HMzU71Hf
https://dl.doubtnut.com/l/_828VrDjBg5OL
https://dl.doubtnut.com/l/_qEL91hphyavH


5. Check whether the following are quadratic equations: 

Watch Video Solution

(x + 1)2 = 2(x − 3)

6. Chek whether the following are quadratic equation: 

Watch Video Solution

x2 − 2x = ( − 2)(3 − x)

7. Chek whether the following are quadratic equation: 

Watch Video Solution

(x − 2)(x + 1) = (x − 1)(x + 3)

https://dl.doubtnut.com/l/_N1MXgdgvKdev
https://dl.doubtnut.com/l/_ZUU0jEMvozkz
https://dl.doubtnut.com/l/_7TnVXcNw1Lwt


8. Check whether the following are quadratic equations: 

Watch Video Solution

(x − 3)(2x + 1) = x(x + 5)

9. Chek whether the following are quadratic equation: 

Watch Video Solution

(2x − 1)(x − 3) = (x + 5)(x − 1)

10. Chek whether the following are quadratic equation: 

Watch Video Solution

x2 + 3x + 1 = (x − 2)2

https://dl.doubtnut.com/l/_dJf53r1V1Omt
https://dl.doubtnut.com/l/_lc974wBckY9f
https://dl.doubtnut.com/l/_AlHm8kbIjP8L


11. Chek whether the following are quadratic equation: 

Watch Video Solution

(x + 2)3 = 2x(x2 − 1)

12. Chek whether the following are quadratic equation: 

Watch Video Solution

x3 − 4x2 − x + 1 = (x − 2)3

13. Represent the following situations in the form of quadratic

equation: 

The area of a rectangular plot is 528 . The length of the plot is

one metre more than twice its breadth. We need to find the length

and breadth of the plot.

Watch Video Solution

m2

https://dl.doubtnut.com/l/_cRi9LYQYhOuq
https://dl.doubtnut.com/l/_d5fCfurBzDpS
https://dl.doubtnut.com/l/_qKsZE435ubeL


14. Represent the following situations in the form of quadratic

equation: 

The product of two consecutive positive integers is 306. We need

to find the integers.

Watch Video Solution

15. Represent the following situations in the form of quadratic

equation: 

Rohan’s mother is 26 years older than him. The product of their

ages after 3 years will be 360 years. We need to find Rohan’s

present age

Watch Video Solution

https://dl.doubtnut.com/l/_qKsZE435ubeL
https://dl.doubtnut.com/l/_eLvzSmOfsYNf
https://dl.doubtnut.com/l/_lZBKmmRsmsNS


16. A train travels a distance of 480 km at a uniform speed. If the

speed had been 8km/h less, then it would have taken 3 hours more

to cover the same distance. We need to find the speed of the train.

Watch Video Solution

17. Verify that 1 and  are the roots of the equation 

Watch Video Solution

3

2

2x2 − 5x + 3 = 0.

18. Find the roots of the equation  by

factorisation.

Watch Video Solution

2x2 − 5x + 3 = 0

https://dl.doubtnut.com/l/_jNVGL7rq9gd9
https://dl.doubtnut.com/l/_JoAyBTiRuzb9
https://dl.doubtnut.com/l/_t3D4DQZcDxJ6


19. Find the roots of the quadratic equation 

Watch Video Solution

x − =
1

3x

1

6

20. Find the roots of the following quadratic equations by

factorisation. 

Watch Video Solution

x2 − 3x − 10 = 0

21. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

2x2 + x − 6 = 0

https://dl.doubtnut.com/l/_cDBaYQSEVdjd
https://dl.doubtnut.com/l/_WVkQGQWb8Fxd
https://dl.doubtnut.com/l/_w0rDk5lsiTX6


22. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

√2x2 + 7x + 5√2 = 0

23. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

2x2 − x + = 0
1

8

24. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

100x2 − 20x + 1 = 0

https://dl.doubtnut.com/l/_wEsWsyeGg1Y4
https://dl.doubtnut.com/l/_ciBSEvlCmUNP
https://dl.doubtnut.com/l/_QmHwbPJqQTHk


25. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

x(x + 4) = 12

26. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

3x2 − 5x + 2 = 0

27. Find the roots of the following quadratic equations by

factorisation 

x − = 2
3

x

https://dl.doubtnut.com/l/_QmHwbPJqQTHk
https://dl.doubtnut.com/l/_Fpvr8IBipl2b
https://dl.doubtnut.com/l/_LSv9d6tVyndo
https://dl.doubtnut.com/l/_5XmyENvF7rgS


Watch Video Solution

28. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

3(x − 4)2 − 5(x − 4) = 12

29. Find two numbers whose sum is 27 and product is 182.

Watch Video Solution

30. Find two consecutive positive integers, sum of whose squares

is 613.

Watch Video Solution

https://dl.doubtnut.com/l/_5XmyENvF7rgS
https://dl.doubtnut.com/l/_OiLMZ5AsqOps
https://dl.doubtnut.com/l/_xnH5iuGTiCK5
https://dl.doubtnut.com/l/_YvoGxA3btxbi


31. The altitude of a right triangle is 7 cm less than its base. If the

hypotenuse is 13 cm, find the other two sides.

Watch Video Solution

32. A cottage industry produces a certain number of pottery

articles in a day. It was observed on a particular day that the cost

of production of each article (in rupees) was 3 more than twice the

number of articles produced on that day. If the total cost of

production on that day was Rs. 90, find the number of articles

produced and the cost of each article.

Watch Video Solution

33. Find the dimensions of a rectangle whose perimeter is 28

meters. And whose area is 40 square meters.

https://dl.doubtnut.com/l/_zIsuRB0Smn11
https://dl.doubtnut.com/l/_AiAj16MdxqRn
https://dl.doubtnut.com/l/_2cjBn2LzTWIk


Watch Video Solution

34. The base of a triangle is 4cm longer than its altitude. If the

area of the triangle is 48 sq.cm, then find its base and altitude.

Watch Video Solution

35. Two trains leave a railway station at the same time. The first

train travels towards west and the second train towards north.

The first train travels 5 km/hr faster then the second train. If after

two hours they are 50 km. apart, find the average speed of each

train.

Watch Video Solution

https://dl.doubtnut.com/l/_2cjBn2LzTWIk
https://dl.doubtnut.com/l/_FjM8BjdfqPua
https://dl.doubtnut.com/l/_a9HIoWe1xWMt


36. In a class of 60 students, each boy contributed rupees equal to

the number of girls and each girl contributed rupees equal to the

number of boys. If the total money then collected was Rs. 1600,

how many boys are there in the class?

Watch Video Solution

37. A motor boat heads upstream a distance of 24km on a river

whose current is running at 3km per hours. Assuming that the

motor boat maintained a constant speed, what was its speed ?

Watch Video Solution

38. Find the roots of the equation  by the

method of completing the square.

Watch Video Solution

5x2 − 6x − 2 = 0

https://dl.doubtnut.com/l/_o4HW1GKvx0Gb
https://dl.doubtnut.com/l/_hQsyS07dGWU0
https://dl.doubtnut.com/l/_PSk1YQ4HO2KI


39. Find the roots of  by the method of

completing the square.

Watch Video Solution

4x2 + 3x + 5 = 0

40. Find two consecutive odd positive integers, sum of whose

squares is 290.

Watch Video Solution

41. A rectangular park is to be designed whose breadth is 3 m less

than its length. Its area is to be 4 square metres more than area of

a park that has already been made in the shape of an isosceles

triangle with its base as the breadth of the reatangular park and

of altitude 12m. Find its length and breadth.

https://dl.doubtnut.com/l/_PSk1YQ4HO2KI
https://dl.doubtnut.com/l/_0pvLbsilwi7S
https://dl.doubtnut.com/l/_wLUiajc5ioDq
https://dl.doubtnut.com/l/_S6DApwsxsnEe


Watch Video Solution

42. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

x2 + 4x + 5 = 0

43. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

2x2 − 2√2x + 1 = 0

44. Find the roots of the following equations: 

x + = 3, x ≠ 0
1

x

https://dl.doubtnut.com/l/_S6DApwsxsnEe
https://dl.doubtnut.com/l/_nclN2TbcyEDn
https://dl.doubtnut.com/l/_GaxZQc01Ihbr
https://dl.doubtnut.com/l/_VbSdhYp6NrN5


Watch Video Solution

45. Find the roots of the following equations: 

Watch Video Solution

− = 3, x ≠ 0, 2
1

x

1

x − 2

46. A motor boat whose speed is 18km/h in still water. It takes 1

hour more to go 24km upstream than to return downstream to

the same spot. Find the speed of the stream.

Watch Video Solution

47. Solve the equations by completing the square. 

Watch Video Solution

x2 − 10x + 9 = 0

https://dl.doubtnut.com/l/_VbSdhYp6NrN5
https://dl.doubtnut.com/l/_clWuEsA5Tf4x
https://dl.doubtnut.com/l/_3VJRNN2YYwf2
https://dl.doubtnut.com/l/_c5P7oW7QdgfK


48. Solve the equations by completing the square 

Watch Video Solution

x2 − 5x + 5 = 0

49. Solve the equations by completing the square 

Watch Video Solution

x2 + 7x − 6 = 0

50. We have three methods to solve a quadratic equations. Among

these three, which metod would you like to use? Why?

Watch Video Solution

https://dl.doubtnut.com/l/_c5P7oW7QdgfK
https://dl.doubtnut.com/l/_KouIj1sIQGSh
https://dl.doubtnut.com/l/_gYU95TTLRVgx
https://dl.doubtnut.com/l/_9WKm5ex2f9Xj
https://dl.doubtnut.com/l/_ANOu8KLSoJnb


51. Find the roots of the following quadratic equations, if they

exist, by the method of completing the square: 

Watch Video Solution

2x2 + x − 4 = 0

52. Find the roots of the following quadratic equations, if they

exist, by the method of completing the square: 

Watch Video Solution

4x2 + 4√3x + 3 = 0

53. Find the roots of the following quadratic equations, if they

exist, by the method of completing the square: 

Watch Video Solution

5x2 − 7x − 6 = 0

https://dl.doubtnut.com/l/_ANOu8KLSoJnb
https://dl.doubtnut.com/l/_6lb8C9e42aK6
https://dl.doubtnut.com/l/_AyjN6bGpedE9


54. Find the roots of the following quadratic equations, if they

exist, by the method of completing the square: 

Watch Video Solution

5x2 − 7x − 6 = 0

55. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

2x2 + x − 4 = 0

56. Find the roots of the quadratic equation by applying the

quadratic formula. 

4x2 + 4√3x + 3 = 0

https://dl.doubtnut.com/l/_AyjN6bGpedE9
https://dl.doubtnut.com/l/_FeSqUsiCdEjM
https://dl.doubtnut.com/l/_pYEosDqf1VqN
https://dl.doubtnut.com/l/_wZMU6JMn9Blu


Watch Video Solution

57. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

5x2 − 7x − 6 = 0

58. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

x2 + 5 = − 6x

59. Find the roots of the following equations: 

x + = 3, x ≠ 0
1

x

https://dl.doubtnut.com/l/_wZMU6JMn9Blu
https://dl.doubtnut.com/l/_xV7wtpwciflt
https://dl.doubtnut.com/l/_LIam27bsFYtZ
https://dl.doubtnut.com/l/_zhEsOlqdsAc8


Watch Video Solution

60. Find the roots of the following equations : 

Watch Video Solution

− = , x ≠ − 4, 7
1

x + 4

1

x − 7

11

30

61. The sum of the reciprocals of Rehman ages, (in years) 3 years

ago and 5 year from now is  Find his present age.

Watch Video Solution

1

3

62. In a class test, the sum of Moulika's marks in Mathematics and

English is 30. If she got 2 marks more in Mathematics and 3 marks

less in English, the product of her marks would have been 210.

Find her marks in the two subjects.

https://dl.doubtnut.com/l/_zhEsOlqdsAc8
https://dl.doubtnut.com/l/_Xz4Ib2qsjbQe
https://dl.doubtnut.com/l/_AsSgzgouChPu
https://dl.doubtnut.com/l/_sOD4Dm8V3bC8


Watch Video Solution

63. The diagonal of a rectangular field is 60 metres more than the

shorter side. If the longer side is 30 metres more then the shorter

side, find the sides of the field.

Watch Video Solution

64. The difference of squares of two numbers is 180. The square of

the smaller number is 8 times the larger number.Find the two

numbers.

Watch Video Solution

65. A train travels 360 km at a uniform speed. If the speed had

been 5 km/h more, if would have taken 1 hour less for the same

https://dl.doubtnut.com/l/_sOD4Dm8V3bC8
https://dl.doubtnut.com/l/_53m5UsmXIyLL
https://dl.doubtnut.com/l/_LY8EygUw8Oga
https://dl.doubtnut.com/l/_fL8fryADq85q


journey. Find the speed of the train.

Watch Video Solution

66. Two water taps together can fill a tank in  hours. The tap of

larger diameter takes 10 hours less than the smaller one to fill the

tank separately. Find the time in which each tap can separately fill

the tank.

Watch Video Solution

9
3

8

67. An express train takes 1 hour less than a passenger train to

travel 132 km between Mysore and Bangalore (without taking into

consideration the time they stop at intermediate stations). If the

average speed of the express train is 11 km/hr more then that of

the passenger train, find the average speed of the two trains.

Watch Video Solution

https://dl.doubtnut.com/l/_fL8fryADq85q
https://dl.doubtnut.com/l/_2GHfMPAjClvE
https://dl.doubtnut.com/l/_pqnWfyPVIcbc


68. Sum of the areas of two squares is 468  If the difference of

their perimeters is 24m, find the sides of the two squares.

Watch Video Solution

m2

69.  is a formulat which given the distance S in

meters travelled by a ball from the thrower's hadns if it is thrown

upwards with an initial velocvity of u  after a time of t

seconds. G is the acceleration due to the gravity and is  


If a ball is thrown upwards at  how high has it gone after 1

second?

Watch Video Solution

S = ut − gt21

2

m/s

9.8m/s2

14m/s

https://dl.doubtnut.com/l/_pqnWfyPVIcbc
https://dl.doubtnut.com/l/_kDBPTGMbI0Ls
https://dl.doubtnut.com/l/_h4NIk5CCKysR


70.  is a formulat which given the distance S in

meters travelled by a ball from the thrower's hadns if it is thrown

upwards with an initial velocvity of 14  after a time of t

seconds. G is the acceleration due to the gravity and is  


How long does it take for the ball to reach a height of 5 meters?

Watch Video Solution

S = ut − gt21

2

m/s

9.8m/s2

71.  is a formulat which given the distance S in

meters travelled by a ball from the thrower's hadns if it is thrown

upwards with an initial velocvity of 14  after a time of t

seconds. G is the acceleration due to the gravity and is  


How long does it take for the ball to reach a height of 5 meters?

Watch Video Solution

S = ut − gt21

2

m/s

9.8m/s2

https://dl.doubtnut.com/l/_WCFyPiQ9gTzh
https://dl.doubtnut.com/l/_4ZJVI4RHOMXo


72. If a polygon of 'n' sides has  diagonals. How many

sides will a polygon having 65 diagonals ? Is there a polygon with

50 diagonals?

Watch Video Solution

n(n − 3)
1

2

73. Find the discriminant of the quadratic equation

, and hence find the nature of its roots.

Watch Video Solution

2x2 − 4x + 3 = 0

74. A pole has to be erected at a point on the boundary of a

circular park of diameter 13 metres in such a way that the

differences opposite fixed gates A and B on the boundary is 7

metres. Is it possible to do so ? If yes, at what distances from the

two gates should the pole be erected ?

https://dl.doubtnut.com/l/_sFcImcbLanpi
https://dl.doubtnut.com/l/_SXDuQI44p9bu
https://dl.doubtnut.com/l/_RiSX2ySNGm2k


Watch Video Solution

75. Find the discriminant of the equation  and

hence find the nature of its roots. Find them, if they are real.

Watch Video Solution

3x2 − 2x + = 0
1

3

76. Explain the benefits of evaluating the discriminant of a

quadratic equation before attempting to solve it. What does its

value signifies?

Watch Video Solution

77. Write three quadratic equations one having two distinct real

solutions, one having no real solution and one having exactly one

real solution.

https://dl.doubtnut.com/l/_RiSX2ySNGm2k
https://dl.doubtnut.com/l/_Ns1ZyoEVGWRX
https://dl.doubtnut.com/l/_6qUYnHOqWuuW
https://dl.doubtnut.com/l/_isMimcIzhWMG


Watch Video Solution

78. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

2x2 − 3x + 5 = 0

79. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

3x2 − 4√3x + 4 = 0

80. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

https://dl.doubtnut.com/l/_isMimcIzhWMG
https://dl.doubtnut.com/l/_sRIRndW86cWQ
https://dl.doubtnut.com/l/_rXAPH8O1sqBC
https://dl.doubtnut.com/l/_Vq9ss4paTZOQ


Watch Video Solution

2x2 − 6x + 3 = 0

81. Find the values of k for each of the following quadratic

equations so that they have two equal roots. 

Watch Video Solution

2x2 + kx + 3 = 0

82. Find the values of k for each of the following quadratic

equations so that they have two equal roots. 

Watch Video Solution

2x2 + kx + 3 = 0

https://dl.doubtnut.com/l/_Vq9ss4paTZOQ
https://dl.doubtnut.com/l/_OMTTjc73yV1X
https://dl.doubtnut.com/l/_CFHZ6MbMehjN


83. Is it possible to desigh a rectangular mango grove whose

length is twice its breadth, and the area is 800  ? If so find its

length and breadth.

Watch Video Solution

m2

84. The sum of the ages of two friends is 20 years. Four years

ago,the product of their ages in years was 48. Is the above

situation possible ? If so, determine their present ages

Watch Video Solution

85. Is it possible to desigh a rectangular park of perimeter 80m

and area  ? If so, find its length and breadth.

Watch Video Solution

400m2

https://dl.doubtnut.com/l/_CkhWzPfXex2C
https://dl.doubtnut.com/l/_Wl1Lx65QgVne
https://dl.doubtnut.com/l/_jq0ar5I7kEVQ


86. Some points are plotted on a plane. Each point is joined with

all remaining points by line segments. Find the number of points if

the number of line segments are 15.

Watch Video Solution

87. A two digit number is such that the product of its digits, is 8.

When 18 is added to the number, they interchange their places.

Determine the number.

Watch Video Solution

88. A piece of wire 8m in length is cut into two pieces and each

piece is bent into a squares. Where should the cut in the wire be

made if the sum of the areas of these squares is to be 2 ?

Watch Video Solution

m2

https://dl.doubtnut.com/l/_a1tuEJH6BDRh
https://dl.doubtnut.com/l/_pb6TbF0Sfuu1
https://dl.doubtnut.com/l/_Bqpanf2DhpAJ


89. Vinay and Praveen working together can paint the exterior of a

house in 6 days. vinay by himself can complete the job in 5 days

less than Praveen. How long will it take Vinay to complete the job?

Watch Video Solution

90. Show that the sum of roots of a quadratic equation

Watch Video Solution

ax2 + bx + c = 0is
−b

a

91. Show that the product of the roots of a quadratic equation

 is .

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)
c

a

https://dl.doubtnut.com/l/_Bqpanf2DhpAJ
https://dl.doubtnut.com/l/_CvuHQXcI3iqB
https://dl.doubtnut.com/l/_HEUPcnNDqrE4
https://dl.doubtnut.com/l/_tiidKmKUlh4N


92. The denominator of a fraction is one more than twice the

numerator. If the sum of the fraction and its reciprocal is ,

find the fraction.

Watch Video Solution

2
16

21

93. Check whether the following are quadratic equations or not. 

Watch Video Solution

(x + 2)2 = 3(x − 4)

94. Check whether the following are quadratic equations or not. 

Watch Video Solution

x2 − 3x = − 4(2 − x)

https://dl.doubtnut.com/l/_8QIeo7zHNw9l
https://dl.doubtnut.com/l/_9dPyqEBkqA3X
https://dl.doubtnut.com/l/_7THuhJqV75Ft


95. Check whether the following are quadratic equations or not. 

(x-1)(x+2)= (x+1)(x+3)

Watch Video Solution

96. Check whether the following are quadratic equations or not. 

Watch Video Solution

(x − 3)2 = x2 + 5x + 6

97. Check whether the following are quadratic equations or not. 

Watch Video Solution

(x + 1)3 = 3x(x2 − 2)

https://dl.doubtnut.com/l/_8FCvLeLfy5X9
https://dl.doubtnut.com/l/_Tk1C6vY7xGxq
https://dl.doubtnut.com/l/_wKdNooJzDlIv


98. Represent the folloiwng situations in the form of quadratic

equations. 

The area of rectangular plot is . The length of the plot is

two more than thrice its breadth. We have to find the length and

breadth of the plot.

Watch Video Solution

150m2

99. Represent the folloiwng situations in the form of quadratic

equations. 

The product of the consecutive positive integers is 462. We need

to find the intergers.

Watch Video Solution

https://dl.doubtnut.com/l/_yJuqq72VKjqC
https://dl.doubtnut.com/l/_r8y8afsIsWWq


100. Represent the folloiwng situations in the form of quadratic

equations. 

Bhuvan's mother is 25 years older than him. Their product of their

ages after 4 years will be 350 years. We need to find Bhuvan's

present age.

Watch Video Solution

101. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

x2 − 6x + 5 = 0

102. Find the roots of the following quadratic equations by

factorisation 

https://dl.doubtnut.com/l/_UObIvobep9GM
https://dl.doubtnut.com/l/_iv6KF5w66a3W
https://dl.doubtnut.com/l/_tic2hAPj7GGJ


Watch Video Solution

2x2 − 7x + 6 = 0

103. Find the roots of the following quadratic equations by

factorisation 

x(x+7) = -12

Watch Video Solution

104. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

3x2 + 7x − 6 = 0

https://dl.doubtnut.com/l/_tic2hAPj7GGJ
https://dl.doubtnut.com/l/_CGIZ0bxxEC41
https://dl.doubtnut.com/l/_Ba4IKZDLQ6Zj


105. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

x2 − 6x + 5 = 0

106. Find two numbers whose sum is 10 and product is 24.

Watch Video Solution

107. Find the consecutive positive integers, sum of whose squares

is 145.

Watch Video Solution

https://dl.doubtnut.com/l/_FGutOoAkx0ok
https://dl.doubtnut.com/l/_azftFYIVPWvc
https://dl.doubtnut.com/l/_GggqowQM093A


108. The base of the right angle is 7 cm more than its altitude. If

the hypotenuse is 13cm, find the other two sides.

Watch Video Solution

109. Find the dimensions of a rectangle whose perimeter is 30

metres and whose area is 50 square meters.

Watch Video Solution

110. find the roots of the folowing quadratic equations, if they

exist, by the method of the completing the square. 

Watch Video Solution

x2 + 5x = 4

https://dl.doubtnut.com/l/_rWAElYV5kS85
https://dl.doubtnut.com/l/_cT3abWxxtqtu
https://dl.doubtnut.com/l/_aPDUTNphzV2h


111. find the roots of the folowing quadratic equations, if they

exist, by the method of the completing the square. 

Watch Video Solution

4x2 + 6x = 3

112. Find the values of k for  equation have two

equal roots.

Watch Video Solution

3x2 + kx + 4 = 0

113. Find the values of p for  equation have two

equal roots.

Watch Video Solution

4x2 − px + 7 = 0

https://dl.doubtnut.com/l/_jNEj1OYckh4P
https://dl.doubtnut.com/l/_zqmm6cxJgV2e
https://dl.doubtnut.com/l/_GKsdraN7bN37


114. In a class test the sum of Kishore's marks in Mathematics and

English is 30. If he got 2 marks more in Mathematics an 3 marks

less in English. The product of his marks would have been 210. Find

his marks.

Watch Video Solution

115. In a class test the sum of meena's marks in Social and Hindi is

40. If he got 3 marks more in Social and 4 marks less in Hindi. The

product of his marks would have been 270. Find his marks.

Watch Video Solution

116. Find the roots of .

Watch Video Solution

6x2 − x − 2 = 0

https://dl.doubtnut.com/l/_A1fZ7e7B2r40
https://dl.doubtnut.com/l/_gsnuq3YuuyMA
https://dl.doubtnut.com/l/_uItIoSRJsfkn


117. The roots of (7x-1)(2x+3)=0.

Watch Video Solution

118. If the sum of squares of two consecutive positive even

numbers is 100 then find them.

Watch Video Solution

119. The discriminant of  is…

Watch Video Solution

5x2 − 3x − 2 = 0

120. The nature of the roots of a quadratic equation

 is….

h id l i

4x2 − 12x + 9 = 0

https://dl.doubtnut.com/l/_lgU0DS4gZyws
https://dl.doubtnut.com/l/_WDuCureaRP0V
https://dl.doubtnut.com/l/_AFudnxrVf3rf
https://dl.doubtnut.com/l/_iG6JX1dzlUc5


Watch Video Solution

121. The roots of the Q.E. 

Watch Video Solution

(x − )
2

= 9
1

3

122. The roots of the quadratic equation  are…

Watch Video Solution

=
x2 − 8

x2 + 20

1

2

123. The roots of  are…

Watch Video Solution

2x2 − x + = 0
1

8

124. If y(y+y) = 12 then y=?

Watch Video Solution

https://dl.doubtnut.com/l/_iG6JX1dzlUc5
https://dl.doubtnut.com/l/_75opXDDbAPbK
https://dl.doubtnut.com/l/_Cqqv2CGMaitS
https://dl.doubtnut.com/l/_DpkzXt8XiEtQ
https://dl.doubtnut.com/l/_kfJxysMTS7Y6


Watch Video Solution

125. Find the equations with roots 9 and 1.

Watch Video Solution

126. If  are the roots of  the find the value of 

.

Watch Video Solution

α, β x2 − yx + 3 = 0

α2 + β2

127. If  then find the value of x.

Watch Video Solution

+ =
1

x − 2

2

x − 1

6

x

https://dl.doubtnut.com/l/_kfJxysMTS7Y6
https://dl.doubtnut.com/l/_V90XrkgD9SsR
https://dl.doubtnut.com/l/_937qreCQoFsW
https://dl.doubtnut.com/l/_NrjVCqTwjNvg


128. In right angle triangle  AB = 4, AC= 5 then find the

value of BC.

Watch Video Solution

△ ABC

129. If  then find the value of x.

Watch Video Solution

x2 − 4x + 3 = 1

130. The sum of a number and its recip- rocal is  then the

number is

Watch Video Solution

5

2

131. The roots of a quadratic equation 

are…..

(√2x + 3)(5x − √3) = 0

https://dl.doubtnut.com/l/_1UV5GxDpy6ts
https://dl.doubtnut.com/l/_H79tZvqRNv9Y
https://dl.doubtnut.com/l/_bOGvrKL7JLUW
https://dl.doubtnut.com/l/_vSCgCvaht0nV


Watch Video Solution

132. A piece of wire 8m in length is cut into two pieces and each

piece is bent into a squares. Where should the cut in the wire be

made if the sum of the areas of these squares is to be 2 ?

Watch Video Solution

m2

133. For what positive value of x the .

Watch Video Solution

9x2 − 81 = 0

134. If  are the roots of  then find the value

of .

Watch Video Solution

α, β 32x2 + 3x − 7 = 0

α2 + β2

αβ

https://dl.doubtnut.com/l/_vSCgCvaht0nV
https://dl.doubtnut.com/l/_odAjz2j3e95t
https://dl.doubtnut.com/l/_2F25blsRVThL
https://dl.doubtnut.com/l/_CaSt5wUiwFwr


135. Form a quadratic equation from

Watch Video Solution

x3 − 4x2 − x + 1 = (x − 2)3 =

https://dl.doubtnut.com/l/_bGhgxRzwwQRO

